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An English Translation:

Basic Mechanics

D

A particle of mass m is moving through the air with the initial velocity being vg(> 0) in

the vertically upward direction and the initial height of the particle being 0. Let the force
of air resistance R be proportional to the square of the velocity v as R = v,y > 0 and

g be the acceleration of gravity. Answer the following questions.

(1) Obtain as a function of time ¢ the velocity of the particle while v(t) = 0.
(ii) Obtain the height of the highest point of the particle motion.

(iii) Obtain as a function of vy the time T' when the particle reaches the highest point,

and then obtain the limit of 7" when vy — oc.

(iv) Obtain the terminal velocity v, of the particle when ¢ — oc.



